

D

A possible

r1 o b² into

S

$$ca^x + (m+1)x + m \frac{1}{x} \rightarrow m^x + cm - xm, a \rightarrow m, m^x \quad -1$$

$$u_1^x + u_2^x \rightarrow a = \frac{1}{x} \quad \lim_{x \rightarrow -\frac{1}{x}} \frac{\sqrt{4} |a + \frac{1}{x}|}{|m^x + \frac{1}{x}|} = x\sqrt{x} \tan b$$

$$\rightarrow \tanh_2 \frac{\sqrt{x}}{x} = b = \frac{x}{4}$$

$$n=1 \rightarrow \lim_{x \rightarrow 1} f_{n+1} = \frac{x^x + an + b}{x-1} \rightarrow a+b = 1 \quad -2$$

$$\lim_{x \rightarrow 1} x^x + an + b \rightarrow x=1 \rightarrow a+b = 0 \quad \textcircled{1}, \textcircled{2}, a=1, b=-1$$

$$\rightarrow \left[\frac{-1-x}{x} \right] = -1$$

$$n=1, a=0 \rightarrow \lim_{x \rightarrow 1} \frac{x^x + x - 1}{x-1} = \lim_{x \rightarrow 1} \frac{x^x + x - 1}{x-1} = 1 \quad -3$$

$$= \lim_{x \rightarrow 1} \frac{(x+1)(x-1)}{x(1-x)} \rightarrow \frac{x}{-a} = 1 \rightarrow a = -1$$

$$n=2 \rightarrow \lim_{x \rightarrow 1} \frac{x^x + x - 1}{x(1-x)} = b \rightarrow b = \frac{x-1}{-x} \rightarrow b = -\frac{1}{x}$$

$$x = -\frac{1}{x} = -\frac{1}{1} = -1$$

$$f_{n+1} = a[f_n] + b[a[f_n]] = a[x] + a + b[x] + b + b[a] = 1$$

$$\rightarrow a = b \rightarrow f_{n+1} = b[a] = f_{n+1} = b[a] = \frac{a[a]}{f_{n+1}}$$

$$\rightarrow \frac{a[a]}{b[a]} = \frac{a}{b} = 1$$

D

S

$$f(x) = -\frac{a}{x} \quad f(h) = -\frac{a}{h} \quad \Rightarrow \quad \frac{f(x) - f(h)}{x - h} = \frac{-\frac{a}{x} + \frac{a}{h}}{x - h} = \frac{a}{xh} \quad \text{و } \frac{f(x) - f(h)}{x - h} = \frac{a}{xh}$$

$$\Rightarrow \frac{a}{f(h)} = \frac{a}{-\frac{a}{h}} = -\frac{1}{\frac{1}{h}}$$

$$\lim_{x \rightarrow a} f(x) = f(a) = -\frac{a}{a} = -1 \quad \lim_{x \rightarrow a} \frac{x^2 + mx + h}{a \cdot x} = \lim_{x \rightarrow a} \frac{(x-a)(x-a)}{-(x-a)} = a = -1$$

$$\Rightarrow \frac{a}{x} = \frac{(x-a)(x-a)}{-(x-a)} = \frac{x-a}{-1} = -x + a \Rightarrow m = -1 \quad h = a$$

$$\Rightarrow n - m = 1 \text{ و } \frac{1}{x} = \frac{1}{a}$$

$$x \rightarrow 1^+ \Rightarrow \frac{|x^2 + mx - m - 1|}{m|(x-1)|(|x+1| + x - 1)} = \frac{|(x-1)(x+m+1)|}{m|(x-1)|(|x+1| + x - 1)} = \frac{x+m}{m(x+1)} \quad \text{و } \frac{1}{x} = \frac{1}{a}$$

$$\Rightarrow \frac{m}{m+1} = \frac{m}{m+1} \Rightarrow m = \frac{m}{m+1} \Rightarrow m = \frac{m}{m+1} \Rightarrow m = \frac{m}{m+1} \Rightarrow m = \frac{m}{m+1}$$

$$\lim_{x \rightarrow 1} \frac{|x^2 + mx - 1|}{\varepsilon |x-1| + |x-1|} = \frac{\frac{\varepsilon}{1-\varepsilon}}{\frac{1}{\varepsilon}} = \frac{\varepsilon}{1-\varepsilon}$$

$$\Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a}$$

$$\text{If } x \rightarrow 0 \Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a}$$

$$\Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a}$$

$$\frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a} \Rightarrow \frac{1}{x} = \frac{1}{a}$$

$$\lim_{x \rightarrow 1} \frac{\sqrt{x} |1-x-d|}{x^{m+1}} = \frac{\sqrt{x} \cdot |m+1|}{|m+1| |x^{m+1}|} = \frac{\sqrt{x}}{x^{m+1}} = \frac{1}{x^{m+1/2}}$$

D

$$\lim_{a \rightarrow 0} f(m) = \frac{\ln(m+1)}{\ln(m+a)} = \frac{ra-1}{ra+r} \rightarrow \frac{1}{a} = \frac{ra-1}{ra+r} \Rightarrow -b$$

$$ra+r = ra'-a \Rightarrow ra'-ra-r=0 \Rightarrow \underline{a=2r} \quad a \rightarrow -\frac{1}{r} \infty$$

$$\Rightarrow \lim_{a \rightarrow \frac{1}{r}} f(m) = \frac{\ln(m+1)}{\ln(m+r)} = \frac{\frac{r}{r}}{\frac{\delta}{r}} = \frac{r}{\delta}$$